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FET A —5

wa| 2 = v | weEE | e | semw | T |EEEE| B L B8 ,@E
=A% 1AP | EHERET=EA0 740.49] 430.24 | RC | 4 | 1161.565 R7.2.9|547.3.28| R7.4.1| 53 8 0
2(=ZAHE 3P |NETEET=490 740.49] 430.24 | RC | 4 | 1161.565 $48.2.101 RT.4.1| 52 8 0
3[=ZAHAA | NEHEFE =682 1276.42| 287.64 | RC | 2 474.879 H21.3.31| S56.2.28| R7.4.1| 44 4 0
4=ZAE5AP (X ETHEIRAT=%68-2 1276.42|  400.00 | RC | 2 60 (FT IR L H1.3.25[ R7.4.1| 36 10 6
S|=BROAP | EMEIRI=489-1 2604.44|  960.00 | RC | 4 | 1735.097#THE&EML L H22.3.31| H6.3.10{ R7.4.1| 31 16 8
6|=AETAP | NEHERET=%589-1 2664. 44| 959.20 | RC | 4 | 1734.374¥THEFEL L H8.3.10[ R7.4.1| 29 16 8
NLERG T _EIRETAZRZRE662-2 1572.63| 434.66 | RC | 3 875. 638|fTIERIL L H10.3.20] R7.4.1| 27 8 3
8|FHHTAP X TR AT AT 616-2 590.34| 475.65 | RC | 3 915. 995 |[fTIERIL £ H13.3.5] R7.4.1| 24 12 0
IBEE2AP | EHERETHZE356 2088.98( 481.02 [ RC | 3 921. 152 |[fTIE=IL £ H12.3.29| R7.4.1 25 6 3
10|A5%3AP | EmEIRET 356 2088.98| 574.28 | RC | 3 | 1006.494#THE&t £ H12.3.29| R7.4.1| 25 15 3




